8.4 Practice WS #2 Ringbloom Pre-Calc

Name: Hour: Date:

I. Simplify each of these expressions.

1. sin O secH 2, XXX 3. cos?20(1+tan?20)
csc X
4, 1roosy 5. (tan x)(cos x)(csc x) 6. tan 0 + cos (— 0) + tan (— 6)
l+secy
II. Verify the identity
7. %ﬂ =cot X 8. cos(—x) —sin(—x) = cos X +sin x
X

9. tan O + cot® = (sec 0)(csc0) 10. (sinx +cosx)?=1+ 2 sinx cos x



11. (tany + coty) si =1 12, SCXZCIX ot
(tany + coty) siny cosy o cotx

13 sin6—cscO _  cosO

. = - 14. cost+tantsint=sect
cos 6 —cotO 1-sin6

15. (tan x + cot x)* = csc*x sec*x
(HINT: simplify tanx + cotx as much as possible by adding fractions, then do power)

cos 0
1-sin0

= secO+tan6® (HINT: multiply numerator and denominator by 1 + sin 0)



